Ride Offered Upper Michigan to Denver to West Texas

Location lowa
https://lwww.genclassifieds.com/x-513000-z

Hey all,

On June 29 (+/- a day) | will be heading to Denver, CO through: Escanaba, Green Bay, Appleton,
Madison Cedar Rapids, lowa City, Des Moines, Lincoln and ending in Denver.
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On July 1 (+/- a day) I will be heading to Snyder, TX through: Denver, Colorado Springs, Pueblo,
Amarillo, Lubbock and ending in Snyder.
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On July 5 | will be heading to Denver CO through: Lubbock, Amarillo, Pueblo, Colorado Springs, and
ending in Denver.
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On July 7 (+/- a day) | will be heading to Upper Michigan through: Denver, Lincoln, Des Moines, lowa
City, Cedar Rapids, Madison, Appleton, Green Bay and ending in Escanaba.

I will have a car (Mitsubishi Gallant) that can be used for hauling people or cargo anywhere between
those areas.

Dallas
Snyder, TX * Fort Worthg: -2 Liag data 2015 Google, I

Let me know what you need hauled where and lets see if we can make a!
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